EARH 01-1
1. woszammLzso, (11945

(1) 3b(b+4)
(3) 2z(z+1)
(5) —3b(3b + 4)

(7) —4z(2z +1)

2. WoREEM LS, (10450

(1) —2z(5z + 3y)
(3) 2z(x + 4y)
(5) —2y(—2y — 52)

(7) —b(4b + 5¢)

3. ROXZ R L7pSv, (1074 5)

(1) —2p(p —q)
(3) 22(z — 1)
(5) 4b(—3b + 4)
(7) 3x(—dz +5)

(9) —2m(—m — 3n)

— R 01-1 -

(2) —2z(z+1)

(4) z(4x — 3)

(6) —y(3y —4)

(8) —n(4n + 5)

(2) b(b+c)

(4) 2y(5y + 2z)

(6) b(5b+ 3c)

(8) —z(z — 5y)

(2) 3a(a + 5b)

(4) —x(3z + 2y)

(6) n(4n —5)

(8) 3z(3z + 4y)

— 13th-note —

)



— R 01-1 -

B 01-1

1.

2.

3.

WO AR LSV, (11794 5)

(1) 3b(b+4) = 3b% 4+ 12b

(3) 2z(z+1) = 2z + 2x

(5) —3b(3b+4) = —9b% — 12b

(7) —4z(2x+1) = —8x? — 4x

WOR AR L2 S0, (1794 4)

(1) —2z(5z +3y) = —10x? — 6xy

(3) 22(z +4y) = 2x* 4 8xy

(5) —2y(—2y — 52z) = 4y? + 10yz

(7) —b(4b+ 5¢) = —4b? — 5bc

ROXZ R L7pSv, (1074 5)

(1) —2p(p —q) = —2p* + 2pgq

(3) 22(z—1) = 222 — 22

(5) 4b(—3b+4) = —12b* + 16b

(7) 3x(—4x+5) = —12x2% 4+ 15x

(9) —2m(—m —3n) = 2m? + 6mn

(2) —22(z4+1) = —22%2 — 22

(4) z(4z —3) = 4z — 3z

(6) —y(3y —4) = —3y®> + 4y

(8) —n(4n+5) = —4n? — 5n

(2) b(b+¢) = b%+ be

(4) 2y(5y +22) = 10y? + 4yz

(6) b(5b+ 3¢) = 5b% 4 3bc

(8) —x(z —5y) = —x? + by

(2) 3a(a +5b) = 3a? + 15ab

(4) —zx(3z+2y) = —3x2 — 2zy

(6) n(4n —5) = 4n? — 5n

(8) 3z(3z +4y) = 9x? + 12zy

— 13th-note —

)



EARd 01-2
1. woszammLzso, (11945

(1) —z(x—1)
(3) —z(x+1)
(5) —b(5b + 3)

(7) —2m(—5m + 4)

2. WoREEM LS, (10450

(1) —b(5b — 3¢)
(3) 2a(3a — 5b)
(5) —x(—3x + 5y)

(7) —3y(3y — 52)

3. ROXZ R L7pSv, (1074 5)

(1) —2m(3m —5)
(3) —2¢(5¢ — 4)

(5) —2y(-y —32)
(7) —4b(~b — 5¢)

(9) 4n(-n +4)

— R 01-2 -

(2) —x(4x +5)

(4) 3a(3a +5)

(6) —42(3z —5)

(8) —3b(2b+ 1)

(2) —3z(3z + 4y)

(4) —3p(2p + 5q)

(6) —3m(4m + 3n)

(8) —2m(—bm — 4n)

(2) 3z(3x + 2y)

(4) 2n(n — 2)

(6) —4n(—n +5)

(8) —2y(-y—5)

— 13th-note —

)



— R 01-2 -

E’E 01-2

1.

2.

3.

WO AR LSV, (11794 5)

1) —z(z—1) = —x2 +x
(3) —z(z+1) = —x®> —=x
(5) —b(5b+3) = —5b% — 3b

(7) —2m(=5m+4) = 10m? — 8m

WOR AR L2 S0, (1794 4)

(1) =b(5b —3¢) = —5b? + 3bc

(3) 2a(3a — 5b) = 6a? — 10ab

(5) —x(=3z +5y) = 3x2 — by

(7) —=3y(3y —52) = —9y? + 15yz

ROXZ R L7pSv, (1074 5)

(1) —2m(3m —5) = —6m?2 + 10m

(3) —2¢(5c—4) = —10c? + 8c

(5) —2y(—y —3z) = 2y® + 6y=z

(7) —4b(—b —5¢) = 4b? 4 20bc

(9) 4n(—n+4) = —4n? 4 16n

( ) ( ) )

(2) —x(4z+5) = —4x? — bz

(4) 3a(3a+5) = 9a?® + 15a

(6) —42(3z —5) = —1222% + 20z

(8) —3b(2b+1) = —6b* — 3b

(2) —3z(3z +4y) = —9x? — 12zy

(4) —3p(2p +5q) = —6p* — 15pq

(6) —3m(4m +3n) = —12m? — 9mn

(8) —2m(=bm —4n) = 10m? 4+ 8mn

(2) 3z(3z +2y) = 9x? + 6xy

(4) 2n(n—2) = 2n? — 4n

(6) —4n(—n+5) = 4n? — 20n

(8) —2y(—y—5) = 2y* + 10y

— 13th-note —



— B 01-3 -
R&Bd 01-3 ( M) ( ) )

1. woszammLzso, (11945

(1) —2m(4m — 3) (2) n(n+2)

(3) —3b(5b + 2) (4) —3n(5n — 3)
(5) 2z(—5z — 4) (6) 4z(4z — 3)
(7) —2a(—5a + 4) (8) —b(5b — 4)

2. WoREEM LS, (10450

(1) 2p(p +2q) (2) —3y(2y — 2)
(3) 3m(4m — 3n) (4) 3y(by — 2z)
(5) —2m(—3m + 2n) (6) 3z(3z + 4y)
(7) —2m(—m —n) (8) 4z(—z —y)

3. ROXZ R L7pSv, (1074 5)

(1) 22(2z — 1) (2) —2a(5a — 3b)
(3) 3y(3y —5) (4) —2x(x —2y)
(5) 22(2z — 5y) (6) —3x(—5z — 3y)
(7) —m(m —n) (8) da(—z—2)

(9) b(—b—1)

— 13th-note —



~ R 01-3 -

R 01-3

1.

2.

3.

WO AR LSV, (11794 5)

(1) —2m(4m —3) = —8m?2 + 6m
(3) —3b(5b+2) = —15b% — 6b
(5) 2z(—5x —4) = —10x* — 8x

(7) —2a(-5a+4) = 10a? — 8a

WOR AR L2 S0, (1794 4)

(1) 2p(p+29) = 2p® + 4pq

(3) 3m(4m —3n) = 12m? — 9mn

(5) —2m(—3m +2n) = 6m? — 4mn

(7) —2m(—m —n) = 2m? + 2mn

ROXZ R L7pSv, (1074 5)

(1) 2220 — 1) = 4x2 — 2z

(3) 3y(3y —5) = 9y? — 15y

(5) 2¢(2¢ — 5y) = 4x? — 10xy

(7) —=m(m—n) = —m? 4+ mn

(9) b(=b—1) = —b% — b

2) n(n+2) =n?+2n

(4) —=3n(5n—3) = —15n2 4 9n

(6) 42(4z —3) = 1622 — 122

(8) —b(5b—4) = —5b% + 4b

(2) —3y(2y —2) = —6y* + 3yz

(4) 3y(5y —22) = 15y? — 6yz

(6) 3x(3z +4y) = 9x2% + 12zy

(8) dx(—z —y) = —4x? — 4y
(2) —2a(5a —3b) = —10a? + 6ab
(4) —2z(z —2y) = —2x2% + 4xy

(6) —3x(—5z —3y) = 15x? + 9y

(8) dz(—x—2) = —4x? — 8z

— 13th-note —

)



B’ 01-4

1. woszammLzso, (11945

(1) —3n(5n+4)
(3) 3x(4x — 3)
(5) —2b(5b — 2)

(7) —y(~y +2)

2. WoREEM LS, (10450

(1) —2a(2a +b)
(3) 2p(5p +29)
(5) 2x(—2z — by)

(7) —dz(—z —y)

3. ROXZ R L7pSv, (1074 5)

(1) z(5z — 4y)
(3) 2n(3n + 4)
(5) —22(2 + 3y)
(7) —m(4m + 5n)

(9) 4z(—z + )

— R 01-4 -

(2) —2z(x +2)

(4) —2n(n+1)

(6) 3m(—m —5)

(8) 3m(m —1)

(2) z(x —y)

(4) 3z(3x + by)

(6) y(y + 2)

(8) —a(—2a -+ 3b)

(2) —2z(3z + 4y)

(4) —c(2¢+1)

(6) —4x(4x + 5y)

(8) —3z(—3z — by)

— 13th-note —

)



— R 01-4 -

B’ 01-4

1.

2.

3.

WO AR LSV, (11794 5)

(1) =3n(5n+4) = —15n? — 12n

(3) 3z(4zx —3) = 12x% — 9z

(5) —2b(5b—2) = —10b% + 4b

(7) —y(~y+2) =y*—2y

WOR AR L2 S0, (1794 4)

(1) —2a(2a +b) = —4a? — 2ab

(3) 2p(5p +2¢) = 10p? + 4pq

(5) 2a(—2z — by) = —4x? — 102y

(7) —da(—z—y) = 42 + 4zy

ROXZ R L7pSv, (1074 5)

(1) z(5z —4y) = bx? — 4zy

(3) 2n(3n+4) = 6n? + 8n

(5) —2z(2x +3y) = —4x? — 6y
(7) —m(4m +5n) = —4m? — bmn
(9) 4z(—z +y) = —4x? + 4zy

( ) ( 9 )
(2) —2x(x+2) = —2x2 — 4z
(4) —2n(n+1) = —2n? — 2n
(6) 3m(—m —5) = —3m? — 15m

8) 3m(m—1) = 3m? — 3m

@) a(e—y) =a® —xy

(4) 3z(3z +5y) = 9x? + 15zy

6) yy+z2) =y*>+yz

(8) —a(—2a+3b) = 2a? — 3ab

(2) —22(3z +4y) = —6x? — 8y
(4) —c(2¢+1) = —2c2 — ¢
(6) —dz(4x +5y) = —16x2? — 20xy

(8) —3z(—3z —5y) = 9z2 + 15xy

— 13th-note —



R 01-5

1. woszammLzso, (11945

(1) —m(bm + 3)
(3) —b(b+1)
(5) —3y(—2y —5)

(7) —z(—2z—-1)

2. WoREEM LS, (10450

(1) —2b(2b + ¢)
(3) —a(2a+b)
(5) —3y(—3y + 5z)

(7) —a(2a — 3b)

3. ROXZ R L7pSv, (1074 5)

(1) —3n(2n — 3)
(3) —2y(3y +4z)
(5) —3a(a + 4b)
(7) 22(—z — 5y)

(9) z(—x —y)

~ B’ 01-5 -

(2) —3n(n+3)

(4) 3a(5a +2)

(6) —4m(3m —4)

(8) 4elc+1)

(2) =3p(p+q)

(4) b(5b + 3c)

(6) —(5z — 2y)

(8) 3x(—3z + 4y)

(2) —3n(bn —3)

(4) m(3m + 2n)

(6) —3m(2m —1)

(8) —4b(b — c)

— 13th-note —

)



R 01-5

1.

2.

3.

WO AR LSV, (11794 5)

(1) —m(Bm+3) = —5m? — 3m

(3) —=b(b+1) = —b%> —b

(5) —3y(—2y —5) = 6y? + 15y

(7) —2(—2—1) =224z

WOR AR L2 S0, (1794 4)

(1) —2b(2b+¢) = —4b* — 2bc

(3) —a(2a+b) = —2a® — ab

(5) —=3y(—=3y +52) = 9y? — 15yz

(7) —a(2a —3b) = —2a? + 3ab

ROXZ R L7pSv, (1074 5)

(1) =3n(2n—3) = —6n? + 9n
(3) —2y(3y +42) = —6y? — 8yz
(5) —3a(a+4b) = —3a? — 12ab
(7) 22(—z —5y) = —2x2 — 10xy
9) 2(~z—y) = —z® —zY

~ B’ 01-5 -

(2) =3n(n+3) = —3n? — 9n

(4) 3a(5a+2) = 15a? + 6a

(6) —4m(3m —4) = —12m?2 + 16m

(8) 4e(c+1) = 4c? + 4c

(2) —3p(p+q) = —3p? — 3pq

(4) b(5b+3¢) = 5b? + 3bc

(6) —z(5z —2y) = —bx? + 2xy
(8) 3x(—3z+4y) = —9z2 + 12zy
(2) —=3n(5n—3) = —15n2? 4+ 9n

(4) m(3m +2n) = 3m? + 2mn

(6) —3m(2m —1) = —6m? + 3m

(8) —4b(b—c¢) = —4b? + 4bc

— 13th-note —

)



~ BF 01-6 -

R 01-6 (

1. woszammLzso, (11945

(1) —2z(z +5) (2) 2b(2b + 3)

(3) b(5b+ 4) (4) —2y(5y + 3)
(5) —2n(—3n+5) (6) —3z(2z +1)
(7) —22(-2—-4) (8) =3y(—2y—1)

2. WoREEM LS, (10450

(1) b(3b+ 2c) 2) 2(z —y)
(3) —ala — 2b) 4) —a(z+y)
(5) —3z(—5z — 2y) (6) z(4z — 5y)
(7) —4b(—3b — 4c) (8) w(—2a + 5y)

3. ROXZ R L7pSv, (1074 5)

(1) 2a(a — 4b) (2) —32(52 + 4)
(3) 3z(3z — 2y) (4) 2z(z + 2y)
(5) —3a(—a—2) (6) 2p(3p — 4q)
(7) 3¢(c —3) (8) x(—3z — 5)

(9) —da(—5a + 2)

— 13th-note —

)



~ BF 01-6 -

R 01-6

1.

2.

3.

WO AR LSV, (11794 5)

(1) —2z(zx+5) = —2x% — 10z

(3) b(5b+4) = 5b% 4 4b

(5) —2n(-3n+5) = 6n% — 10n

(7) —22(—z—4) = 222 4+ 82

WOR AR L2 S0, (1794 4)

(1) b(3b+2¢) = 3b?% + 2bc

(3) —a(a—2b) = —a? + 2ab

(5) —3z(—5z —2y) = 15x2 + 6y

(7) —4b(—3b—4c) = 12b* + 16bc

ROXZ R L7pSv, (1074 5)

(1) 2a(a —4b) = 2a® — 8ab

(3) 3x(3z —2y) = 9x2? — 6xy

(5) =3a(—a—2) = 3a® + 6a

(7) 3c(c—3) = 3¢% — 9c

(9) —4a(-5a+2) = 20a? — 8a

(2) 2b(2b+3) = 4b? + 6b

(4) —2y(5y +3) = —10y* — 6y

(6) —3z(2z+1) = —6x% — 3z

(8) —3y(—2y—1) = 6y® + 3y

(2) 2z(x —y) = 2x% — 2y

—x? — 2y

(4) —z(z +y)

(6) z(4z —5y) = 4x? — dbxy

(8) z(—2zx +5y) = —2x% + 5xy

(2) —=32(52+4) = —1522 — 12z

(4) 22(z +2y) = 2x2 + 4y

(6) 2p(3p — 4q) = 6p*® — 8pq

(8) x(—3z—5) = —3x% — bz

— 13th-note —

)



ER 01-7
1. woszammLzso, (11945

(1) 2y(y+1)
(3) 3xz(z+1)
(5) 2(—3z—4)

(7) —3x(—b5z +4)

2. WoREEM LS, (10450

(1) 3z(5z + 4y)
(3) 2z(z — 3y)
(5) 4x(—4z — 3y)

(7) —p(3p +5q)

3. ROXZ R L7pSv, (1074 5)

(1) 2b(5b + 2c)
(3) —2a(2a + 3b)
(5) 4a(3a — 2b)
(7) 3b(—b + 4c)

(9) 3z(4z — 3y)

~ EBF 01-7 -

(2) —2b(b+ 1)

(4) n(n+1)

(6) —2z(5z —4)

(8) —4dc(c—4)

(2) —2m(4m + 3n)

(4) —3x(3z + 4y)

(6) 2m(—m —n)

(8) —4y(y + 32)

(2) —2b(2b+1)

(4) 2a(4a + 5b)

(6) n(—3n+5)

(8) 3m(—3m — 2n)

— 13th-note —

)



B 01-7

1.

2.

3.

WO AR LSV, (11794 5)

1) 2y(y+1) = 2y* + 2y

(3) 3z(z+1) = 3z + 3x

(3) —2a(2a +3b) = —4a® — 6ab

(5) 4a(3a —20) = 12a® — 8ab

(7) 3b(=b+4c) = —3b% 4 12bc

(9) 3z(4x —3y) = 1222 — 9xy

~ EBF 01-7 -

(2) —2b(b+1) = —2b% — 2b

4) n(n+1) =n?>+n

(5) 2(—3z—4) = —32% — 4z (6) —22(5z —4) = —102% + 8z

(7) —3z(—bx+4) = 1522 — 12x (8) —4c(c—4) = —4c? + 16¢
WORAE BB LS, (174 54)

(1) 3z(5z +4y) = 15x? + 12zy (2) —2m(4m +3n) = —8m? — 6mn
(3) 2z(x —3y) = 2x2 — 6y (4) =323z +4y) = —9x? — 12zy
(5) dax(—4x —3y) = —16x2? — 12zy (6) 2m(—m —n) = —2m? — 2mn
(7) —p(3p+5¢) = —3p* — 5pq (8) —dy(y+32) = —4y® — 12yz
WORAEER LS, (174 5)

(1) 2b(5b+2¢) = 10b% 4 4bc (2) —2b(2b+1) = —4b* — 2b

(4) 2a(4a +5b) = 8a? + 10ab

6) n(—3n+5) = —3n? + 5n

(8) 3m(—3m —2n) = —9m? — 6mn

— 13th-note —

)



— &Fd 01-8
&R 01-8 ( M) ( ) )

1. woszammLzso, (11945

(1) —n(n—2) (2) 2¢(3¢—2)
(3) —2b(3b—2) (4) m(m —1)
(5) y(—y +1) (6) —a(a—1)
(7) —3¢(—c —2) (8) 2m(—3m — 2)

2. WoREEM LS, (10450

(1) m(m — 3n) (2) —=3x(x - 5y)
(3) 22(2z + 5y) (4) 2m(m — n)
(5) 4a(a — b) (6) —2x(x + 2y)
(7) 2m(—3m + 4n) (8) 4z(z +y)

3. ROXZ R L7pSv, (1074 5)

(1) 3a(2a — 5) (2) z(2z — y)

(3) z(2z + 5y) (4) —m(3m —2)
(5) a(a + 4b) (6) —x(—22 +5)
(7) a(—z — 5) (8) 4b(5b — 2¢)
(9) —c(5c —2)

— 13th-note —



~ BF 01-8 -

R 01-8

1.

2.

3.

WO AR LSV, (11794 5)

(1) —n(n—2) = —n?+ 2n
(3) —2b(3b—2) = —6b% + 4b
G)y(-y+1) = -y’ +y

(7) =3c¢(—c—2) = 3c® + 6¢

WOR AR L2 S0, (1794 4)

(1) m(m —3n) = m? — 3mn

(3) 2¢(22 4+ 5y) = 4x? + 10xy

(5) 4a(a —b) = 4a? — 4ab

(7) 2m(=3m +4n) = —6m? + 8mn

ROXZ R L7pSv, (1074 5)

(1) 3a(2a —5) = 6a? — 15a

(3) z(2z +5y) = 2x2 + by

(5) a(a+4b) = a® + 4ab

(7) z(—x—5) = —x? — bx

(9) —c(5¢—2) = —bc? + 2¢

(2) 2¢(3¢—2) = 6% — 4c

(4) m(m—1) =m* —m

6) —ala—1) = —a®+a

(8) 2m(—3m —2) = —6m?2 — 4m
(2) —3z(z —5y) = —3x2 + 15zy
(4) 2m(m —n) = 2m? — 2mn
(6) —2z(x+2y) = —2x2 — 4zy

(8) dx(x+y) = 4x? + 4y

(2) z(2z —y) = 2x2 — zY

(4) —m(3m —2) = —3m? + 2m

(6) —x(—2x+5) = 2x% — 5x

(8) 4b(5b —2¢) = 20b% — 8bc

— 13th-note —

)



R 01-9
1. woszammLzso, (11945

(1) 3y(4y —5)
(3) =b(b—1)
(5) —2y(3y —4)

(7) 3y(—3y —5)

2. WoREEM LS, (10450

(1) —2y(y — 2)
(3) y(y —52)
(5) y(5y — 42)

(7) 4p(—p +2q)

3. ROXZ R L7pSv, (1074 5)

(1) 2a(3a — 5)
(3) —2z(z —2y)
(5) —4a(2a — 5b)
(7) 3yly + 2)

(9) 3z(—4z +5)

~ B 01-9 -

(2) —3b(b— 2)

4) —3a(a+2)

(6) —3a(—3a + 2)

(8) z(42 + 5)

(2) —m(4m + 3n)

(4) —3a(3a + 5b)

(6) =(z —3y)

(8) 3m(m — 5n)

(2) 2(z - 1)

(4) 2p(p —q)

(6) 4b(b+ 2)

(8) —2a(5a + 2b)

— 13th-note —

)



~ B 01-9 -

R 01-9

1.

2.

3.

WO AR LSV, (11794 5)

(1) 3y(4y —5) = 12y* — 15y

(3) =b(b—1) = —b%>+ b

(5) —2y(3y —4) = —6y> 4 8y

(7) 3y(—3y —5) = —9y? — 15y

WOR AR L2 S0, (1794 4)

(1) —2y(y —2) = —2y® + 2yz

(3) yly —52) = y® — byz

(5) y(5y — 42) = By? — dyz

(7) 4p(—p+2q) = —4p* + 8pgq

ROXZ R L7pSv, (1074 5)

(1) 2a(3a —5) = 6a? — 10a

(3) —2z(x —2y) = —2x2 + 4zy

(5) —4a(2a — 5b) = —8a? + 20ab

(7) 3y(y+2) = 3y*> + 3yz

(9) 3z(—4z +5) = —12x* + 15z

( 2 ( 7 )
(2) =3b(b—2) = —3b% 4+ 6b
(4) —3a(a+2) = —3a? — 6a

(6) —3a(—3a+2) = 9a? — 6a

(8) z(4z+45) = 42% + 5z

(2) —m(4m +3n) = —4m? — 3mn

(4) —3a(3a +5b) = —9a? — 15ab

6) z(z —3y) = x2 — 3y

(8) 3m(m —5n) = 3m? — 15mn

(4) 2p(p—q) = 2p* — 2pq

(6) 4b(b+2) = 4b* + 8b

(8) —2a(5a +2b) = —10a? — 4ab

— 13th-note —



ER 01-10

1. woszammLzso, (11945

(1) —m(m - 5)
(3) —2a(a + 5)
(5) m(—3m + 2)

(7) b(—3b— 5)

2. WoREEM LS, (10450

(1) y(3y + 22)
(3) 3p(p+q)
(5) 4a(—2a + 3b)

(7) 3z(x —y)

3. ROXZ R L7pSv, (1074 5)

(1) a(3a — 4)

(3) —22(z +5)
(5) 2m(—5m + 4)
(7) 2p(—p +4q)

(9) —=3y(—y +22)

— &R 01-10 —

(2) —3n(n—2)

(4) z2(z+2)

(6) 3y(y +1)

(8) —c(—c+2)

(2) —2z(z — 3y)

(4) —3a(a — 2b)

(6) —4b(2b — c)

(8) 4x(—z +v)

(2) 2a(5a — 3)

(4) 2y(5y +4)

(6) —4p(p+ 3q)

(8) 2z(—z — 5y)

— 13th-note —

)



— &R 01-10 —

ER 01-10

1.

2.

3.

WO AR LSV, (11794 5)

(1) —m(m—5) = —m? + 5m
(3) —2a(a+5) = —2a® — 10a
(5) m(=3m+2) = —3m? 4+ 2m
(7) b(—=3b—5) = —3b% — 5b

WOR AR L2 S0, (1794 4)

(1) y(3y+22) = 3y* + 2yz

(3) 3p(p+4q) = 3p? + 3pq

(5) 4a(—2a +3b) = —8a? 4+ 12ab

(7) 3x(z —y) = 3x2 — 3y

ROXZ R L7pSv, (1074 5)

(1) a(3a —4) = 3a® — 4a

(3) —22(2+5) = —22% — 10z
(5) 2m(—5m +4) = —10m? 4+ 8m
(7) 2p(—p+4q) = —2p* + 8pq

(9) —3y(—y +22) = 3y? — 6yz

(2) =3n(n—2) = —3n? + 6n

(4) 2(z2+2) = 2% + 22

(6) 3y(y+1) = 3y*>+ 3y

(8) —c(—c+2) =c? —2¢c

(2) —2z(x —3y) = —2x2 + 6xY
(4) —3a(a —2b) = —3a? + 6ab
(6) —4b(2b —¢) = —8b? + 4bc
(8) 4x(—x +y) = —4x? + 4xy

(2) 2a(5a —3) = 10a? — 6a

(4) 2y(5y +4) = 10y? + 8y

(6) —4p(p +3q) = —4p® — 12pq

(8) 2z(—z —5y) = —2x2 — 10xy

— 13th-note —

)



